Q) LEEHILEARBERE
<KRATHE R E > XKAHPTRFE---B2 LAk
O 1HAE Ky
<BPE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (E' }i) ?E/f
(6]
A 6 128 208 118 46 5 1 512 6.5
Bl 15 310 935 838 532 142 20| 2,792 35.6
B2 7 197 814 1,202 | 1,329 545 91| 4,185 53. 4
C 0 0 3 2 11 0 0 16 0.2
D 0 5 32 68 55 27 2 189 2.4
E 0 6 41 36 41 14 1 139 1.8
= UN) 28 646 | 2,033 | 2,264 | 2,014 733 115| 7,833 100. 0
HETRAEZR (%) 25.0 32.2 43.8 57.8 71.3 79.9 81.7 57.8
<Izf>
&% =R
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ e
(N) (%)
A 6 166 359 173 59 15 2 780 10.9
Bl 20 322 | 1,113 ] 1,082 554 125 15| 3,231 45. 2
B2 7 150 590 911 912 353 36| 2,959 41.4
C 0 1 1 4 4 1 1 12 0.2
D 0 5 20 34 32 20 4 115 1.6
E 0 4 9 13 16 8 4 54 0.8
ZR2EE(N) 33 648 | 2,092 | 2,217 1577 522 62| 7,151 100. 0
HHTREZ (%) 21.2 24. 7 29. 6 43. 4 61.1 73.2 72.6 43.9




@ 2B A Ky

<FE>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ (E'}i) JEE/J/;
(6]
A 2 36 61 45 15 9 3 171 5.6
Bl 3 105 312 308 206 97 14| 1,045 34.2
B2 2 55 228 408 516 389 88| 1,686 55. 1
C 0 0 0 7 3 3 0 13 0.4
D 0 4 15 16 36 17 92 3.0
E 0 1 8 13 13 15 3 53 1.7
ZBER () 7 201 624 797 789 530 112 3,060 | 100.0
HPTREZE (%) 28. 6 29.9 40. 2 55. 7 72.0 80. 0 84. 8 60. 3
<Izf>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ ('3 }z) JEE/”;*
(0]
A 1 16 33 37 12 8 0 107 9.1
Bl 2 18 100 131 109 75 14 449 38.3
B2 1 9 48 123 198 174 34 587 50. 0
C 0 0 0 2 0 0 2 0.2
D 0 0 3 4 7 6 2 22 1.9
E 0 0 0 4 2 0 6 0.5
= UN) 4 43 184 295 332 265 50| 1,173 100. 0
HATRAEZR (%) 25.0 20.9 27.7 43. 1 63.6 68. 7 72.0 52.6




© [EfRERERT

DE RSB IR T2 Q RiRd)

< B>
50~59 | 70~79 | AEt(N) | HE(%)
B1 1 0 1 33.3
B2 1 1 2 66. 7
St B (N) 2 1 3 100. 0
AP RAEH (%) 50. 0 100. 0 66. 7
<ZtE>
40~49 | 60~69 | AFF(N) | HE(%)
B2 1 1 2 66. 7
D 0 1 1 33.3
BN 1 2 3 100. 0
A TR (%) 100. 0 100. 0 100. 0
@ fri2Hsk
< B>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ EE[;Q sz/j
A 0 0 0 0 0 0 0 0 0.0
B1 0 2 3 3 1 4 0 13 12.7
B2 0 5 6 9 24 12 2 58 | 56.9
C 0 0 1 1 2 0 0 4 3.9
D 1 1 5 4 13 1 0 25 24.5
E 0 0 1 0 1 0 0 2 2.0
Zi2 B (N) 1 8 16 17 41 17 2 102 | 100.0
AT RAEHE (%) 100. 0 75. 0 81.3 82.4| 97.6 76.5 | 100.0 87.3
<Zfk>
30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ ?}3 ﬁf/j
A 0 0 0 0 0 0 0 0.0
B1 1 2 3 1 0 0 7 11.5
B2 2 5 15 9 11 0 42 68.9
C 0 0 0 1 0 0 1 1.6
D 1 0 5 3 0 2 11 18.0
E 0 0 0 0 0 0 0 0.0
St E(N) 3 5 20 13 11 2 54 100. 0
AT R (%) 75.0 71.4 87.0 92.9 | 100.0 100. 0 88.5




<IRAFTH >
O1HAB Ry
< B>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ |&Z (N)
Bl 6 128 208 117 46 5 1 511
ERY —7 0 3 17 29 22 6 1 78
RIEREE R AL 0 3 2 1 5 1 0 12
FERAMIP RS 0 0 1 0 6 6 0 13
FIERLIEE TS 0 3 17 11 13 10 5 59
BIER 5 152 583 704 642 179 25 2, 290
BB 0 0 0 0 0 1 0 1
ArkE % 9 214 857 | 1,020 861 280 32 3, 273
TEMEE A& 5 129 525 837 | 1,059 480 87 3, 122
R 0 0 4 5 4 5 0 18
ERL VL 0 2 19 48 69 54 8 200
HRY—7 9 139 612 821 664 212 34 2,491
A PR 2 0 1 1 8 11 3 0 24
a2 0 2 6 27 29 9 0 73
RGN T 0 13 50 110 111 44 8 336
+ —FER 2 15 89 93 59 18 2 278
+ FRIE 1 3 5 6 3 1 0 19
+ IR B 0 20 93 136 118 45 9 421
+FEBAR Y —7 0 1 15 27 44 17 3 107
+ —FERE YR AR 0 0 6 16 11 1 0 34
+ —FER a2 0 1 0 1 2 0 0 4
+ T FER RN T 0 2 6 22 14 4 0 48
7V A IVIE IR 0 2 8 43 40 19 1 113
= DA DIFE 7 269 1051 1243 1164 464 69 4, 267
e 44| 1,102 | 4,175| 5,325| 4,997 | 1,864 285 17, 792




<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ |&E (N)
FETa L 6 166 357 173 59 15 2 778
BERY —7 0 7 39 60 19 8 0 133
AE PR A 0 2 2 3 5 1 0 13
FIERAMIPER S 0 0 1 8 3 1 0 13
FIERLIEE TS 1 0 6 12 13 6 1 39
IR 5 53 230 293 253 93 15 942
BB 0 0 0 1 1 0 0 2
AMkE % 7 169 650 820 617 213 24 2, 500
T A& 5 92 379 634 721 301 36 2, 168
R 0 1 1 2 5 0 3 12
BRI 0 1 4 18 23 12 0 58
BHRU—7 4 233 999 | 1,136 692 195 27 3, 286
H P R 0 1 3 8 6 4 1 23
Bl 0 1 5 9 12 7 1 35
FRIR T IS 0 15 57 89 108 63 5 337
+ —FER 0 4 22 22 18 7 0 73
+ FRIAE 0 1 1 0 0 2 0 4
+ IR B R 0 4 31 60 69 22 3 189
+ —FEGAR Y — 7 0 1 7 10 14 2 0 34
+ —FERE YR A 0 0 1 0 3 2 0 6
+ —FERGE IR ZE 0 0 0 0 1 0 0 1
+ T FER RN T 0 2 6 9 7 0 1 25
7V 2 A IVIE I A 0 1 8 10 6 6 1 32
Z DMDIFE 9 132 591 688 639 261 40 2, 360
oG 37 886 | 3,400 | 4,065 | 3,294 | 1,221 160 13, 063




@ 2 ANH K7
< B>

~29 | 30~39 | 40~49 | 50~59 | 60~69 | 7T0~79 | 80~ |&E (N)
FETe L 2 36 61 44 15 9 3 170
ERY —7 0 2 4 6 6 12 1 31
BRI AL 0 1 0 1 4 0 2 8
FERAMIP RS 0 0 0 1 4 3 1 9
FIERLIEE TS 0 2 3 10 12 9 1 37
BIER 1 46 215 251 217 143 29 902
BB 0 0 0 0 0 0 0 0
APEE K 2 81 271 356 369 207 38 1,324
T E A& 1 37 138 274 444 339 87 1, 320
R 0 0 2 1 1 1 0 5
R LR 0 2 7 11 33 24 12 89
HRY—7F 1 43 181 283 240 165 25 938
H PR 0 0 0 5 6 3 1 15
a2 0 0 9 6 15 6 2 38
RGN T 1 3 16 36 38 36 2 132
+ —FER 0 5 17 28 22 15 4 91
+ FRIE S 0 0 0 4 3 1 1 9
+ IR B R 0 9 17 39 57 35 8 165
+ —FEGAR Y —7 0 1 4 17 17 5 1 45
+ —FERE YR A 0 1 2 1 4 3 0 11
+ —FERG AR 2 0 0 0 0 0 0 1 1
+ T FER RN T 0 0 3 14 6 3 3 29
7V A IVIE IR 0 1 8 8 19 8 0 44
Z DMDIFE 4 80 328 423 453 331 68 1, 687
TRF 12 350 | 1,286 | 1,819| 1,985| 1,358 290 7,100




<ZME>
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ |&E (N)
FETa L 1 16 33 37 12 8 0 107
BERY —7 0 0 1 2 3 2 0 8
AE PR A 0 0 0 0 0 0 0 0
FIERAMIPER S 0 0 0 0 0 1 0 1
FIERLIEE TS 0 0 0 4 6 3 0 13
IR 1 6 22 31 60 48 8 176
AMEE K 2 9 63 107 132 95 20 428
T E A& 1 4 32 89 163 145 27 461
R 0 0 1 0 0 1 1 3
BRI 0 0 0 0 8 5 0 13
HRY—7 0 11 91 118 125 104 18 467
HFER 0 0 0 2 0 1 1 4
Bl 0 0 1 1 4 2 0 8
R T IS 0 3 5 15 22 25 4 74
+ Falk 0 0 1 5 1 1 0 8
+ FRIAE 0 0 0 1 1 0 0 2
+ IR B R 0 0 3 11 19 6 0 39
+ 4R —7 0 0 2 1 1 5 0 9
+ —FERE YR A 0 0 0 0 0 0 0 0
+ —FERGE IR ZE 0 0 0 0 0 0 0 0
+ T FER RN T 0 0 0 1 3 2 0 6
7V 2 A IVIE IR 0 1 2 2 4 2 0 11
Z DMDIFE 0 6 59 87 125 108 36 421
oG] 5 56 316 514 689 564 115 2, 259




@ AEREFIRIR S R ORI ATE B BN T P2
< B>
50~59 | 70~79 | &&F (N)
SRR 1 1 2
IR 1 1 2
RS 1 1 2
ZDOMOIFE 0 1 1
e 3 4 7
<ZME>
40~49 | 60~69 | &FF (N)
IR 0 1 1
T H 2% 1 2 3
KPP 22 0 1 1
o 1 4 5

(2 Uhdr)
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ARTTERE
<ME - 'H - T iRBEER AL R >
< B>
&3 e
~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ b
(N) (%)

Group I 1 6 34 49 67 23 0 180 75.9
Group 1T 0 0 0 0 2 1 0 3 1.3
Group III 0 0 0 1 0 1 0 2 0.8
Group IV 0 0 0 1 3 0 1 5 2.1
Group V 0 0 2 5 0 1 0 8 3.4
ZF Dl 0 1 5 7 16 9 1 39 16.5
Z2EE(N) 1 7 41 63 88 35 2 237 | 100.0
<Izr>

&3 R

30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80~ s

(N) (%)
Group 1 3 15 21 27 12 8 86 74.1
Group 1II 1 0 0 0 0 0 1 0.9
Group I 0 0 0 1 1 0 2 1.7
Group IV 0 0 1 0 0 0 1 0.9
Group V 0 1 2 2 1 0 6 5.2
F D, 0 1 9 5 5 0 20 17.2
= {UN) 4 17 33 35 19 8 116 100. 0
Group [ @ IEFHHARIS L OV 2R S 7220 BR 2R
Group 1 : BAIZIRINEMEEHE SN DHIRE
Group I : B & MO RMERORE
Group IV : @A Bl HIRAE
Group V : ¥&

ZOfM - BIEWE - IS =T RS0 b O




